BT TRIA O - HEHHEE X T EFEJ‘ciQEHEEEIEE
+H D - 3y D
X 73,963 159,043 75,748 83,295 |[R:EHFILUETAT 745 1,851 864 987
E 4,637 9,860 4526 5,334
BEKET1T 886 1,860 900 960 |R LEFZHT2T 1,424 3,291 1,567 1,724
BEKET2T 361 800 378 422 5 1,424 3,291 1,567 1,724
B 1,247 2,660 1,278 1,382 |R=E~ EET1T 69 189 85 104
< FE] BT 8,739 21,077 10,017 11,060 |IHE=E+~ER2T 278 552 264 288
Lt RER1T 358 560 286 274 |R=E~ EBT3T 452 1,046 501 545
Tt RERT2T 246 438 200 238 |R=E~EBT4T 211 423 192 231
Lt RER3T 259 459 242 217 |H=E4~ ER/5T 365 672 349 323
Lt RERT4T 158 290 141 149 gt 1,375 2,882 1,391 1,491
Lt RERST 146 299 155 144 | KSIFBT1T 769 1,668 791 877
Tt ERERGT 95 218 109 109 | KEZEHET2T 901 1,903 906 997
TtERER7T 78 171 77 94 | 1,670 3,571 1,697 1,874
Tt ERERST 134 217 104 113 |EmRERT 78 184 83 101
g 1,474 2,652 1,314 1,338 [ERERT2T 145 320 162 158
tfEBET1T 266 557 271 286 (B RERI3T 374 871 388 483
tfEBET2T 1,165 2,567 1,197 1,370 |FARERT4T 276 475 185 290
tfEBET3T 1,008 1,883 930 953 BB RERIST 140 319 149 170
tfEBET4T 913 2,067 1,016 1,051 | 1,013 2,169 967 1,202
g 3,352 7,074 3,414 3,660 |Fa{t HET 2,203 4,903 2,421 2,482
ERATET1T 632 1,555 771 784 |'= AHT 241 452 223 229
ERATET2T 353 831 392 439 |BEEERMET1T 256 497 233 264
ERATETST 364 833 394 439 |BEE ERMET2T 558 1,146 560 586
g 1,349 3,219 1,557 1,662 (B EEFRMATST 717 1,530 724 806
==Yl 1,035 2,184 1,053 1,131 (BEEFRMET4T 645 1,271 633 638
HEWEET 259 510 234 276 |BEE BRMETST 697 1,638 791 847
HERE2T 419 706 315 391 st| 2,873 6,082 2,941 3,141
HEWREIIT 261 484 243 241 | EEMBILET1T 225 376 170 206
HEWE4AT 124 268 125 143 |BEE EHBILRT2T 473 947 444 503
B 1,063 1,968 917 1,051 |BE & B#EILEI3T 531 1,101 537 564
HEREET 1,668 3,173 1,411 1,762 |BE & B#EILET4T 627 1,308 620 688
HEREET2T 2,818 5,921 2,803 3118 |BEEBILAT5T 742 1,705 816 889
HEFETST 3,006 5,860 2,598 3,262 B 2,598 5,437 2,587 2,850
HEFETAT 2,073 3,917 1,720 2197 |EE BT 1,029 1,982 960 1,022
HEREEIST 1,307 2,774 1,329 1,445 (B EB1BAT2T 150 309 162 147
£t| 10872 21,645 9,861 11,784 (B EB#AT3T 2,251 4542 2211 2,331
HUEET1T 798 2,196 1,076 1,120 B 3,430 6,833 3,333 3,500
HYERT2T 532 1,328 650 678 |BEETZET1T 648 1,399 656 743
g 1,330 3,524 1,726 1,798 (B R EBHEZET2T 465 992 470 522
MEET 443 963 479 484 | BEETZEI3T 330 774 376 398
EET2T 349 841 403 438 B 1,443 3,165 1,502 1,663
g 792 1,804 882 922 |BEEEARETTT 652 1,317 652 665
WHAEET1T 739 1,880 894 986 |BEEEAET2T 262 605 293 312
WHEEET2T 204 462 222 240 |BEEEARETST 1,045 2,651 1,295 1,356
RT3 T 732 1,600 816 784 B 1,959 4573 2,240 2,333
g 1,675 3,942 1,932 2010 | B BMEmET1T 301 689 333 356
RKEIRAT 5777 12,984 6,273 6,711 |BEE BEmMET2T 224 461 227 234
hRERTT 281 542 257 285 |BE EEmBET3T 609 1,315 652 663
hRER2T 195 356 158 198 g 1,134 2,465 1,212 1,253
hRERST 229 496 243 253 |J\TFdt 95 202 93 109
hRERT4T 276 530 258 272
B 981 1,924 916 1,008
o A BT 603 1,271 618 653
hEEEET1T 596 1,272 593 679
hEEEET2T 786 1,315 618 697
hEEEETST 457 1,145 542 603
hEEEET4T 727 1,449 711 738
hEEEEST 853 1,712 818 894
hEEEET6T 3,282 6,155 2,934 3,221
5t| 6,701 13,048 6,216 6,832
P =T 878 2,182 1,074 1,108
BAFBILETTT 1,043 2,165 1,033 1,132
BXEFILET2T 979 2,210 1,064 1,146
BEAEFILAIST 1,870 3,634 1,565 2,069
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